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POAW TsN1 (plot by DAT)

Harvept

|
|
! 5
! o
! o
! c
_ 5
|
-————9 =
|
|
|
|
|
|
IIIIIIII e m e =
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
||||||||||| ®
|
|
)
'® o
1 ()
I wn
9 =
| >
—
o ' *
o |
) |
¢ |
|
|
|
o n
| ‘0
f (]
S
® c
) <
|
|
|
|
|
|
|
|
|
|
| [@)]
| £
| ©
I ©
! @
IIIIIII @
T T T T T T T
o o (@) o (@) o (@)
O Te] < m o —

Buippng 1oy sAeqg

50 60 70

40
Days After Transplant

30

20
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POAW (plot by adjDAT)
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PO9AW TsN2 (plot by adjDAT)
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PO9AW TsN3 (plot by adjDAT)
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PO9AW TsN4 (plot by adjDAT)
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PO9AW TsN5 (plot by adjDAT)
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PO9AW TsN6 (plot by adjDAT)

—_—————————
Harvept

Turn Color

Fruit Set

Anthesis

Budding

70

o o
m o

Buippng 1oy sAeqg

50 -
40 -

10 A

90

80

60

50

Days After Transplant



['S1L6']

0.08 A

0.06 A

0.04 A

0.02 A

0.00 -

25

50
['S1L11']

75

100

0.08 A

0.06 A

0.04 A

0.02 A

0.00 -

//“

40

60 80

100

120

LfA [(‘lB3AW)

0.08 -

0.06 -

0.04 ~

0.02 A

0.00 -

25 5I0
['S1L12']

75

100

0.08 A1

0.06 -

0.04 A

0.02 ~

0.00 -

20

40

60 80

100

120

['S1L10']

0.08 -

0.06 -

0.04 ~

0.02 ~

0.00 -

20 40 60 80 100 120

['S1L13']

0.08 A1

0.06 -

0.04 A

0.02 ~

0.00 -

40 60 80 100 120




['S1L14']

0.08 A

0.06 A

0.04 A

0.02 A

0.00 -

40

60

80

100

['S1L17']

120

0.08 A

0.06 A

0.04 A

0.02 A

0.00 1—

80

100

120

LfAL @DaVE)]
0.08 A
0.06 A
0.04 ~
0.02 A
0.00 +— , , , ,
40 60 80 100 120

['S1L16']
0.08 A
0.06 -
0.04 -
0.02 1
0.00 4, | | | |
40 60 80 100 120




['S1IT1Frl']

120 ~

100 A

80 A

60 1

40 A

20 1

—

30

4IO 5I0
['S1T2Fr5']

60

120 ~

100 A

80 A

60 -

40 A

20 A

50

60

70

80

Fri/3ROARY']

120 A

100 A

80 A

60

40 A

20 A

30

40

50

60

['S1IT3Frl’]

70

120 A

100 A

80 A

60 -

40 A

20 A

80

['S1T2Frl’]

120 A

100 A

80 A

60

40 A

20 A

50 60

['SIT3Fr5']

70

120 A

100 A

80 A

60 -

40 A

20 A

50

60

70

80




['S1T4Frl']

120 ~

100 A

80 A

60 1

40 -

20 1

60

70

80

Fri/3RoARY']

120 A

100 A

80 A

60

40 -

20 A

60

70

80

90




0 50 100 150

—— RH
—— RH_imp
100 150

Plot Env Data

5 — To
—— To_imp
O T T T T
0 50 100 150

400 -

300 A

200 A

100 A

— CO2
600
500 A
400 . .
100 150
T
600
500 A
400 A ]
|
300 A :
|
200 A 1
I —— PPFD
100 A : —— PPFD_imp
1
0 50 100 150
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